EARAROBREBRT —5 XN—ZXBISH—F

20244868 (1) 2@FR#5H

R eSS

U] MHin

EZER

[ERE] — | 9 20000 FHE

[AE=%] 1 7% :5,500,000 § ~ 27 :2,200,000 @ .~ 37 :1,400,000 H 4 3&:830,000 . 5 7&:550,000 H

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
s . o IRHIBE 2:05. -6-4- . 2.4 | 2 4 | RIEBSA (TR
1 4| W¥aIFILE=I 3070 E)B AR Rl (fz) SAAYL—REK—Z #)
RIVZIVATF 4= B:Y—AXZ—914A4X /=Y ITr—1L
. —npm ] . -9-3- KiRE#HEZ
) 6| LA RFHF—K 4 3 g%ﬂ 2.?53.6 2-2-33 |37.7]85.2| 5 (5_2;) %%ﬁah (ER)
RINVIRTAYIIFUTP— 8:T—VIL—I— EERS
N~y | | EBYS . _6—)— STH—
37| 7| ARV Y v — (B] 303 157@(3)4% 2.?77).8 6-6-2-2 | 39.0| 74.9 | 1 (43(; g%ﬁ% (F=H)
R:RLIT#Y §:F9VIDUTF 759V BERS
g 3| J. EUALS 2:07.9 1-1-1-1 [39.2| 74.2 | 3 | 460 |EFMER ()
4|5|5|7—YdTIFA2 i 57.0 7 (/2) ) | @ /=2ELX
R:FRXF B:Ir—4YU—k #Rhat /—ReLX
< y= 3 | HLLBATE 2:09.8 9-9-8-8 |39.5]58.5| 6 | 500 |FBRE ER
517|8|P9AYXSFA b " 57.0 (94Y) 4 | _® 1Y
RiIVvRIVIA B:OAVA—RY ARETa—T7—LAh
o SHIEEZ B : -10-8- BOEN (ER)
EH 3| AFRE 4 3 =k (21.110/.21) 10-10-8-5 | 39.9 | 56.6 | 9 ?(1);1 EJ%:”
RiZwF—oJO0—U— BFTITU—F A A 1S
" AL : -2-5- ENET (TR
- 5 O—XTIZXFLUR 43 . 2.(12(;.4 2-2-5-8 | 40.3| 54.8 | 10 (4_720) e 3N
R:O—IRAUXA B:FPITOFAYTA EER Y R
<, 3 | B. LILYNT 2:10.5 4-4-7-5 | 40.4| 54.1 | 4 512 | HERE (RR)
gl1/1|P>¥I /D " 57.0 @) 4 |SHES
R:TUYIRPYRELIINL B:HYF1—)b J—HUTr—L
. Bl&EX : -6-8- 2 —
9 ) | FAI =227 AL [B] B3 5_’3 2(.31/04.)6 8-6-8-8 |40.3| 53.2 | 8 (4_642) %g&m ER)
RiW—5—IvF B:FsARNILY #HE77—LA
s 3 | FIHEZ 2:11.5 4-4-5-5 | 41.8| 48.7 | 7 432 | HAEE (TR
108 10| 7A LU 5.0 o) G |HEE
RiSZ B:F4—TSvR TERS
[ BN
Eh' 49.7-37.1
NOVIA L | 13.4-11.7-12.1-14.1-12.6-12.2-12.6-12.8-12.1-12.2
@ I1—JF—BEBIEfI
13—7F— 5(6,9) (1,10) (4,7)2-8-3
20—7F— 5(6,9) (1,10) (2,4,7)-8,3
30—7— (+5,7)6,4(9,10)-1-(8,2,3)
43— — (+5,7) (6,4)=(10,1,3) (9,8,2)
o ILRE
B 4 240 JA R 4-6 740M & 4-6 3,620 3EE 4-6-7 970/
B B 4 110 4-7 140M /B E 4-6 3,870H 3EE 4-6-7 12,560
6 2904 6-7 5304 o= 4-6 6,170M
7 110/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




